
McCall,  Math 1020, Exam #3

Math 1020, Exam #3, Summer 20L3 Name

Instructions: show all  work' Use exact answers unless specif ical ly as(ed to round. Decimal answers inother cases wil l  not receive ful l  credit.  l f  you are using your catculatof- graphing features to obtain a
other cases wil l  not receive ful l  credit.  l f  you are using your catculatof- graphing rurt*", to obtai
result,  sketch the graph (label the window size and any key points t i t<{ intercep'ts, etc.).

t '  solve the fol lowing inequali t ies' write the answer to each in f ihe three solution formats: i)  in set
notation, i i)  graphed on a number l ine, i i i )  writ ten in interval r lpotation. (L0 points each)
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State the values of the points protted on the graph berow. writeeach as an ordered pair .  (14 points)
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3. For the graph shown to the r ight,  f ind the locat ions of
the x- and y- intercepts. Be sure to indicate which is
wlr ich. (6 points)
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4. Plot the equat ion of the l ine 4x * 6y _ _24 on the
graph to the r iglr t .  Labelat lea:; t  5 points on the graph,
including the x- and y_intercepts. Wri te the equat ion of
the l ine in slope-intercept form. (10 points)
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Given the points 12,0) and (4,5),  draw the l ine connect ing
them, and then f ind the equat ion of the l ine that connects
them.  (10  po in ts )
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6. Firrd the stope of the t ine through the points (!, |) ."a
connecting them in standard fornr. (10 points)
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7. wrrat^i?e slope of a horizontal l ine? Explain why in your own words. (7 points)
l.
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8. What is the slope of a vert ical  l ine? Give an example of an eqluat ion of a vert ical  i ine. 1z points)

rntn v i t& iJ .

X = t

9. Two l ines are gi l 'en: 2x * 3y = 6 and 3x -  2y = t l .
Are they paral lel  or perpendicular? What features of
the equat ion in slope-intercept form tel ls you that this
would be the cal ;e without the graph? (10 points)
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Graph the two l ines on the graph.shown.
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L0. Determine for each pair  of  equat ions below i f  the l ines are pqral lel ,  perpendicular or nei ther.
(7 points each)
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a. Solve the equation Q = :r(m - p),for p. (4 points)
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b. Find the area ofthe shape. (6 points)
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11, These are some problems from the last exam that were most ioften incorrect. Here's your

chance for a second chance at them for extra points.


